MAIRCY

MULTI-FUNCTIONAL CAGE
MWM-7041

o
©
o
o
o
< o
b
N
o o
o | ©
¢
N1 \
N N
o
o
o
o o
o
N

IMPORTANT: Please read the Important Safety Notice and
Assembly Information in the Owner’s manual before assembling
this product.

Assembly Manual
130801




S S )
[
Q .
Q
Q
o N
o Q
0

I~

S
X
N

© o o o
&

(91 191 @9 x1 @)=

O©IMPEX INC. 1 www.impex-fitness.com



O©IMPEX INC. 2 www.impex-fitness.com



5

ALINELE

T T
63 x12 . )

. O

(A @14
6 @
(0 o
x40
64

LN LN N /N [N N

mm

&8)x2

0 1

2

3 4 5 6 7 8 9 10 11 12 13 14 1

TULL

0

1ULL

1

NN UL UL UL DU DL UL L ||||||[|\>
n 1 i " " 6.’

2 3 4 5

©IMPEX INC.

3 www.impex-fitness.com



9 10 11 12 13 14 1

8

\

6

T

||||||||||||||||
5!:’

"

T

"

1ULL

n

IUUNUHE

0

1

3

2

L

1

www.impex-fitness.com

©IMPEX INC.



)

©




M10x23"
M10

2
2

® ©

www.impex-fitness.com

©IMPEX INC.



O©IMPEX INC. 7 www.impex-fitness.com



www.impex-fitness.com

©IMPEX INC.



www.impex-fitness.com

©IMPEX INC.



N

X

o o
= o =
= =
<~ < <
X X X

Dﬂ@
O o

®®®

www.impex-fitness.com

10

©IMPEX INC.



M10x1
M10x13"
3
4
M10

1
2
1
6
4

DO®®®©E®

www.impex-fitness.com

11

©IMPEX INC.



M10x13"

1

Qu....._4
b
X
& = i
T oM< <
= O =
N © ™
X X X

www.impex-fitness.com

12

©IMPEX INC.



/Vbaﬂﬂd q
@’ Ex
] R ¥PPRRB P,
RSB RRC %
RTINS

N
///

Voo o o @ 6 g o o
] b

YN PR
TR A\
TN _W\ Xy
1\ N, AY
A A I ,ﬂl
AN 9 IR @
D — A — e () — - — (NN .
o SN Vo N
oS WY A\ \ ..:., hY
A 2 )
S A

200 @0 ® B ©

www.impex-fitness.com

13

©IMPEX INC.



IMPEX® INC.

2801 S. Towne Ave, Pomona, CA 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
www.impex-fitness.com
info@impex-fitness.com

©IMPEX INC. 14 www.impex-fitness.com



http://www.impex-fitness.com/�

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

